Cluster 0 Cluster 2 Cluster 4
Cluster 1 Cluster 3 Cluster 5

VISTA -

50+ = ==
lo hi + 2 q
CD62L CD44 CD4 T cells E (8
40 — Naive CD4"T cells o3
. p=7e-4 100% 0 -§ D
< — 188
58 2 75% -
é} g 2‘_”, 30 — ° ._2 >
835 8
53 50% -
2 20 —
[}
© 25%
Fraction of cells for each group
10 -
o 10° 10* 10
0 VISTA APC
wWT VISTA-/- e VISTA-/- m— WT
— w
§ o i Vsir-/-
e R S R N e I S R R
ScRNA-seq <
—
PR R B
F 2
NN
[ONe) O [ | ,
B3
T 12% G H
]
08m
o N Cluster 1 Others >
-1 %8 Cluster 0  Cluster 2 8
B2 F i ! g
05 N
VISTA -~ WT Q
0 °
[0
05 2
QO
L1 8
| 8
(73
@,
g
5
~ Dgk
Tnfaip3
Fraction of cells for each group Nfatc1]
Bach2]
—
Vsir-/-
6
ScATAC-seq~<
o 2 6 0.0 25 5.0
S— UMAP_1 UMAP_1
@}
=
(7]
Zz o)
P o
FE
o <
S
T o
RS
gs
5 g
Foxp3
[ — e ——— o —————
7580000 7585000 7590000 7595000
chrX position (bp)
Cblb (distal)
Q
2 - % % o5 LR.p=7e-04
= O = ©
o o - <
2 © S 220
) L 0=
o] ]
s g % 1.5
° C 8 8
ﬁ’l © < O
5 = L 10
£ D g
S a g 0.5
<
o e
N Cluster 1 Rest
(25.3%) (23.1%)
32640000 32680000 32720000 32760000 N 0
chr9 position (bp) Cd4 (promoter) T o5 Tcf7 (distal)
N .
M 2 25 5 LR.p=0.004
2 LR.p=3e-131 8 20
@ .
X >‘2.0 "“_.’ E
o | Y2 85 15
= c bH 515 © 3
35 o 8§ | 82 8810
28 HE R 81,0 o6& 1
s E o © © =
g : : < —
= im 8 05 £ 05
T 1 [
3% g
NS i : % 0.0
g g Cluster 2 Rest Cluster 1Rest
5 P (72.94%) (57.62%) (45.5%) (47.9%)
P4 : : ) P
H H [v]
- 2 | o
E 20 Trac (promoter)
L e S LR.p=0.006
Cd4 3
[ ) 1 G215
83
8210
124865000 124870000 124875000 124880000 124885000 338 '
0 ©
chr6 position (bp) ¥ 05
<
[S]
Cluster 2 Rest
(84.9%) (86.6%)
Cd4 Trac
Ets1 Cblb Btg1 Jun Tcf7
06 0.6 0.25
0.25 0.95 0:25 ' 0.25
. 0.20
0.20 < 0.20 < 0.4 <
0.20 < 0.20 é 3 04 < 5] 5
5 S 0.15 3 e 5 g o1°
— 0.15 2 015 o 3 g 0.15 kS g
z 5 @ = 0.2 0.10
0.10 0.10 0.10 0.2 0.10
0.054 p=1e-
- =5e— = p=1e-10
0.05{p=2e-10 0.05] p=9e-03 0.05{ p=0.003 p=5e-122 0.05{p=5e-10 0.0]p=0,04 [ p=le-10
i y Cluster 2 Rest Cluster 2 Rest Cluster 2 Rest

Cluster 1 Rest

Cluster 1 Rest

Cluster 1 Rest

Cluster 2 Rest



